ANNUAL B.C. HORTICULTURAL STATISTICS

2003



Ministry of Agriculture, Food and Fisheries

Statistics and Economics Unit Policy and Economics Branch

Canadian Cataloguing Information

Canadian Cataloguing in Publication Data

Main entry under title:

Annual B.C. horticultural statistics. — 1996-

Imprint varies.

ISSN 1492-403X=Annual B.C. horticultural statistics

1. Horticultural products industry - British Columbia – Statistics - Periodicals. 2. Horticultural products - British Columbia – Statistics - Periodicals. I. British Columbia. Ministry of Agriculture and Food. Statistical Services Unit. II. British Columbia. Ministry of Agriculture, Food and Fisheries. Statistical Services Unit. III. Title: Annual British Columbia horticultural statistics.

SB87.C32B74 338.1'75'09711021

C00-960170-8

TABLE OF CONTENTS

	Page number
INTRODUCTION	1
DEFINITIONS & EXPLANATIONS Area	1
Fresh Sales to Wholesale	1
Fresh Sales from Farm and Roadside	1
Processed Sales	2 2
Values	2
Data Confidentiality	2
REPORTING REGIONS	2
BC	2 2 2 2
Vancouver Island	2
Lower Mainland	2
Southern Interior Central-Peace	3
SUMMARY TABLE OF HORTICULTURAL PRODUCTION SUMMARY OF 2003 WEATHER & CROP PRODUCTION	4 5
Floriculture	5
Nursery & Sod	5
Greenhouse Vegetables	6
Mushrooms	6
Field Vegetables	7
Specialty Crops	7
Tree Fruit	7
Berries, Grapes & Nuts	8
STATISTICAL TABLES	
Greenhouse Vegetables	10
Mushroom	10
Turf	10
Specialty Crops	10
Field Vegetable – BC	11
Vancouver Island	12
Mainland	13
Southern Interior	14

Tree Fruit -	BC	15
	Vancouver Island	15
	Okanagan-Similkameen-Kootenay	16
	Fraser Valley	16
Apple and Pea	r Production by Variety	17
Berries, Grape	es and Nuts - BC	18
•	Vancouver Island	18
	Mainland	19
	Southern Interior	19
BC Grapes for	Processing by Variety	20

INTRODUCTION

The Annual Horticultural Statistics for British Columbia provides statistical data for the province and its key producing regions on the area, production, average price and value of all horticultural commodities in British Columbia. Coverage includes:

Floriculture Greenhouse Vegetables Field Vegetables Tree Fruit Nursery and Sod Mushrooms Specialty Crops Berries, Grapes and Nut Grapes for Processing

The information is provided for the 2003 crop year and is based on data supplied primarily by industry sources and through consultation with Provincial commodity specialists.

DEFINITIONS & EXPLANATIONS

AREA

Areas shown in the tables are estimates of harvested acreage. In the case of multiple planted crops (e.g., lettuce), the total acreage for all harvests over the year is reported. In the case of crops planted only once, but harvested one or more times (e.g., tomatoes and cucumbers), the planted acreage that is available for harvest is reported. For greenhouse crops, the area shown is the total area under glass or plastic. For tree fruits, berries and mushrooms, the area data are shown only in the summary table. Detailed area data for these commodities are available in the Statistics Canada publication, "Fruit & Vegetable Production: June 2004" (Cat. 22-003), which reports the results of their Spring 2003 area survey of fruits and vegetables.

FRESH SALES TO WHOLESALE

Fresh sales by growers to wholesalers are those made to marketing commercial agencies (i.e., cooperatives). Values are those reported by the various agencies or industry associations. Prices shown are farm-gate prices for graded and packed product sold by marketing agencies or the grower.

FRESH SALES FROM FARM AND ROADSIDE

Fresh farm and roadside sales by growers include roadside stand sales, direct farm sales to retail outlets and final consumers.

PROCESSED SALES

Estimates of sales to processors are obtained directly from processors. Negative prices and sale values for processed tree fruit indicate that the producer's gross return was negative because the market returns for the fruit failed to cover handling and processing charges.

VALUES

The values shown for "Wholesale" and "Processed" sales are net of agency charges. The cost of hauling the commodity to the processor or marketing agency is generally borne by the producer. (Note: Prices are rounded and do not exactly result in the sale values shown when combined with quantities).

DATA CONFIDENTIALITY

Where there were less than three firms reporting information, the data have been combined for confidentiality reasons. In this report, data on processed field vegetable crops having less than three processors reporting are included in the processed sales of "Other Vegetables". Similarly, in the case of some berries where production is minor due to a few producers, "Fresh Wholesale" sales are included in the category "Roadside Sales".

REPORTING REGIONS

♦ British Columbia

Includes all of the regions noted below.

♦ Vancouver Island

Includes Vancouver Island, the Gulf Islands and the Sunshine Coast.

♦ Lower Mainland

Includes all of the Fraser Valley west of Hope.

♦ Southern Interior

Includes the Thompson-Okanagan and Kootenay regions. It is bounded by the Thompson River watershed, the Nicola watershed and the Fraser River watershed from Hope to Lillooet. The area extends southward to include roughly the area from Salmon Arm district south to the Princeton area and east to the British Columbia-Alberta border.

A number of field vegetables that sold through marketing agencies have their agency charges included in the "Fresh Wholesale" and "Processed" prices (i.e. they are not "net of agency charges"). These fresh wholesale vegetables are: beets, topped; cabbage, green; cabbage, red; carrots, topped; onions, spring seeded; parsnips; rutabagas; potatoes (both types); cauliflower (Vancouver Island and the Interior only); celery; and head lettuce. The processed vegetables are: beans (both types); corn; peas; cauliflower; broccoli; and brussels sprouts.

Central – Peace

Includes all the areas north and west of the Thompson-Okanagan (as defined on previous page) and the Lower Mainland bounded by the borders of Alaska, Yukon and the Northwest Territories. In general, the areas known as the Cariboo, Chilcotin, Central Interior, Upper Fraser, Nechako, Skeena, North Coastal, Peace and Liard, are included. While horticulture is concentrated in the Lower Mainland, Vancouver Island and the Southern Interior, the small and scattered production that occurs in the Central -Peace is frequently folded into the production shown for the Southern Interior.

Enquiries, comments and suggestions on this publication may be addressed to: Mark Aiyadurai/Heather Anderson Statistics & Economics Unit

Policy & Economics Branch Ministry of Agriculture, Food & Fisheries PO Box 9120, Stn Prov Govt

Victoria BC V8W 9B4

Tel: (250) 387-7168 (email: Mark.Aiyadurai@gems8.gov.bc.ca) Tel: (250) 387-7169 (email: Heather.Anderson@gov.bc.ca)

Facsimile: (250) 387-9704

	SUMMA	RY OF HO	DRTICUL1	TURAL PR	ODUCTIO	N, BRITISH	COLUM	BIA - 200	03		
COMMODITY		FR	ESH SALE	S		PROCE	SSED SA	LES	TO	OTAL SALES	
		Whol	esale	Farm & R	oadside						
	Harvested	Quantity	Value	Quantity	Value	Harvested	Quantity	Value	Harvested	Quantity	Value
	Acres	'000 lb	\$'000	'000 lb	\$'000	Acres	'000 lb	\$'000	Acres	'000 lb	\$'000
Field Vegetables:									-		
Vancouver Island	1,774	22,412	5,085	9,956	6,235	0	0	0	1,774	32,368	11,319
Mainland	10,126	163,885	43,173	28,060	18,348	6,195	50,866	8,950	16,321	242,811	70,471
Southern Interior Region	2,404	18,057	4,023	17,207	10,338	0	0	0	2,404	35,264	14,362
Total Field Vegetables:	14,304	204,354	52,281	55,223	34,921	6,195	50,866	8,950	20,499	310,443	96,152
Greenhouse Vegetables:	559	235,805	235,633						559	235,805	235,633
Mushroom:		54,652	77,606				1,373	1,208	90*	56,025	78,814
Ginseng (roots):	400	1,300	23,400						400	1,300	23,400
Ginseng (seeds):	225	22	220						225	22	220
Seed Potatoes:	2,220	35,749	5,005						2,220	35,479	5,005
Organic Potatoes:	380	3,605	1,118						380	3,605	1,118
Tree Fruits:									-		
Vancouver Island		22	14	1,200	1,028		0	0		1,222	1,042
Okanagan-Kootenay		250,484	78,774	13,534	10,412		56,255	-2,293		320,273	86,893
Fraser Valley		0	0	528	317		0	0		528	317
Total Tree Fruits:		250,506	78,788	15,262	11,757		56,255	-2,293	18,625**	322,023	88,252
Berries & Nuts:											
Vancouver Island		370	424	1,342	2,777		2,539	1,112		4,251	4,313
Mainland		37,545	48,692	3,325	5,054		125,951	72,361		166,821	126,106
Southern Interior Region		900	801	2,357	4,600		33,064	23,145		36,321	28,546
Total Berries, Grapes & Nuts:		38,815	49,917	7,024	12,431		161,554	96,618	22,650***	207,393	158,966
Floriculture:									340	n.a.	240,000
Nursery:									3,750	n.a.	160,400
Turf:									1,345	n.a.	8,460

^{*}Source: Mushroom Growers Survey, Statistics Canada, Fruit and Vegetable Production (June 2004) Cat. No. 22-003-XIB. (sq ft conversion to hectares)

^{**} Total harvested (bearing) acres for Tree fruit includes: apples, apricots, sweet and sour cherries, peaches, pears, plums and prunes; excludes crabapples and nectarines.

^{***} Total harvested (bearing) acres for Berries and nuts include: blueberries, cranberries, grapes, raspberries and strawberries; excludes kiwifruit and hazelnuts. Source: Agriculture Division, Statistics Canada, Fruit and Vegetable Production (June 2004) Cat. No. 22-003-XIB.

SUMMARY OF 2003 WEATHER & CROP PRODUCTION

WEATHER

A cold wet spring caused some delays in early plantings of a variety of vegetable crops. A late frost occurring in May, just after planting, damaged some early vegetable crops (early potatoes) and delayed the planting and early development of principal crops. The main growing and harvesting seasons were excellent, however, and yields were above average.

Spring frost caused damage to and late maturation of some blueberry and strawberry crops however, harvest conditions were excellent resulting in generally higher yields and higher quality fruit.

In the Okanagan, some heat stress for certain crops did occur and the forest fires during the summer months resulted in some damage to grapes making them unmarketable. However, overall production levels were good as was the quality. Better weather, a good spring pollination and fruit set resulted in an excellent cherry crop in 2003. The quality of the apples in 2003 was good as well, in spite of the high temperatures for much of the summer.

Overall good weather resulted in large harvests for most vegetable, berry and treefruit crops in the Southern Interior and Mainland regions.

CROP PRODUCTION

♦ Floriculture

Floriculture sales in 2003 continued on their upward trend reaching a high of \$240 million. Increases in sales were mostly noted in cut flowers due to high demand for floral arrangements and bouquets, and sales to florists increased in 2003 by 29 percent. Export sales of cut flowers dipped somewhat due to the appreciating Canadian dollar. Sales to the mass market chain stores seem to be levelling off as there was less than a percent increase in sales due in part to oversupply of some container stock.

Nursery and Sod

Nursery stock sales continued to climb in 2003 and reached \$160.4 million, an increase of 4 percent over 2002 sales of \$154 million. This increase is due in part to the continuing increase in nursery acreages and a substantial increase in BC housing construction and landscaping demand. Sales to landscape contractors surged 64 percent while sales to mass merchandisers and garden centres were also up considerably.

Sod acreages increased modestly from 2003. Both sales and harvested acreage increased by about 2 percent.

♦ Greenhouse Vegetables

The area of production of all greenhouse vegetable commodities increased from 497 acres in 2002 to 559 acres in 2003, an increase of 12 percent. Total production increased by 16 percent driven by the area expansion and a large increase in tomato production.

Greenhouse tomato acreage expanded again in 2003 and area increased by 7 percent. Although some of the tomato crop suffered from post harvest quality problems (i.e. soft fruit), production volume was up by 26 percent. A slightly lower price of 86 cents per pound resulted in the value of sales falling from a high of \$141 million in 2002 to \$136.5 million in 2003.

Sweet and hot peppers showed a slight increase in area grown in 2003. Although price was stable the total value of sales decreased by 3 percent. Unmarketable fruit and reduced yields due to an increased aphid population, lowered production. Two years of mild winters have caused aphid populations in greenhouses to remain at high levels throughout the winter season.

The greenhouse area of cucumbers declined from 74 acres in 2002 to 66 acres in 2003. However, production showed an increase of 6 percent because of higher yields. With a price increase per pound from 74 cents in 2002 to 79 cents in 2003, sales totalled \$26 million, an increase of 13 percent.

Greenhouse lettuce production continues to decline. Although the 2003 acreage remained unchanged from 2002, production declined by more than 50 percent or half a million pounds. In spite of a higher price per pound of \$1.38 farm value totalled only being \$565 thousand in 2003, a decrease of about 65 percent.

Mushrooms

BC mushroom growers had a superlative year producing 56 million pounds of fresh and processed mushrooms in 2003, valued at a record \$78.8 million. This represented an increase of 16 percent from the year before and the highest reported sales level historically. As in 2002, the increase in value stems from a high price for fresh mushrooms of \$1.42 per pound. Fresh mushroom production increased by 15 percent from 48 million pounds to 55 million pounds and its share of total production increased to 98 percent. Processing volume and its share declined in 2003 as it had in 2002.

♦ Field Vegetables

Overall, field vegetable production in 2003 was very similar to 2002 with regards to acreage, volume and value. Total production was down about 2 percent while total sales dipped 3 percent.

The weather in 2003 was very "California-like", with very little precipitation in June, July, August and September. Producers with ample irrigation saw their crops flourish, whereas those with inadequate irrigation saw reduced yields and quality. Heavy rains in mid-October brought the 2003 vegetable season to an abrupt halt, negatively affecting the late season cole crops and pumpkins. The single biggest factor affecting the total farm value of vegetable crops was the decrease in the price of potatoes, the largest vegetable, in 2003 compared to 2002. The average price for mid and lates declined from 27 cents per pound to 22 cents per pound lowering sales, in spite of higher acreages, by 16 percent in spite of higher acreages.

For the 2003 reporting year, a portion of potatoes falling under "Processed Potatoes" in the Field Vegetable Production table have been re-categorized. Some quantities previously reported as "Processing" have in fact been sales of fresh potatoes to food service outlets that use them for fresh-made French fries (e.g. the White Spot Restaurant chain). These have now been included in the "Fresh Wholesale" category. Consequently, the "Processed Sales" category of potatoes comprises only culls from potatoes in the "Fresh Wholesale" category sold for dehydration by processors.

◆ Specialty Crops

The harvested area of ginseng roots declined from 500 acres in 2002 to 400 acres in 2003, a reduction of 20 percent. Production decreased to 1.3 million pounds, however a strong grower price per pound of \$18.00 resulted in a total grower value of more than \$23 million, a 4 percent increase over 2002.

Ginseng seed production declined sharply, by 73 percent, due to the reduction of area and yield. A significant price reduction of 67 percent resulted in a very low total value of \$220 thousand, a decrease of more than 92 percent.

Seed potato acreage in 2003 increased by 7 percent. However, despite the increase in acreage production was down by 13 percent. A low average price of 14 cents per pound resulted in a total value of \$5 million, a reduction of more than 36 percent from 2002.

◆ Tree Fruit

Total grower value of the 2003 apple crop was \$61.1 million, down 15 percent from a high of \$72.2 million in 2002. Production volume in 2003 continued its downward trend of the past few years. The 2003 production volume was 272 million pounds, a decrease of 9.1 percent from 2002 when production volume reached almost 300 million pounds. The Gala variety has now surpassed Red Delicious as the leading volume variety in BC. Gala is also the leading apple variety in terms of total sales in the province. The newest variety, Ambrosia, continues to return the highest grower

price of 58 cents per pound compared to all other varieties. In 2003, apples accounted for 69 percent of the total farm value of BC tree fruit production.

The grower value of pears in 2003 decreased significantly from \$4.4 million in 2002 to \$3.4 million. Pear production continued to decline for the fourth consecutive year from 17.7 million pounds in 2002 to 15.5 million pounds in 2003. Lower prices for pear growers are attributed to a larger crop and marketings of fresh pears in the Pacific Northwest.

In contrast to pears, other types of soft fruits enjoyed an excellent year due to generally favourable growing conditions.

The sweet cherry crop volume of 2003 was substantially larger than in the past couple of years due to better spring pollination and fruit set. Sweet cherry sales maintained their top rank among soft fruits increasing significantly from \$11.8 million to \$15.4 million, an increase of almost 30 percent due to the increased production. In 2003 (as in 2002) the grower processed price for sweet cherries ended up being zero. This was because the price paid by the processors was equal to the cost that the fresh packing houses charged the growers for handling the volume diverted to the processors as a result of the fruit not meeting fresh market quality standards.

Peach growers harvested the largest crop since 1998. Volumes rose from 9.2 million pounds in 2002 to 11.3 million pounds in 2003, an increase of almost 23 percent. The grower value of the crop in 2003 was \$4.5 million, up from \$4 million in 2002.

Total apricot production in 2003 was up 58 percent from 2002. Fresh wholesale prices were down slightly, but farm and roadside prices were up significantly to a record \$1.25 per pound which lifted the value of farm sales to \$1.3 million, an increase of more than 92 percent.

Prune/plums showed good volumes and prices resulting in an increase in the value of their sales by 26 percent.

Nectarine production in 2003 was 1.2 million pounds, up from 748 thousand pounds in 2002, an increase of 62 percent. Despite a lower price per pound in 2003, total farm sales increased from \$420 thousand to \$578 thousand, an increase of 38 percent.

♦ Berries, Grapes and Nuts

The total farm value of the 2003 berries, grapes and nuts crop is estimated at \$159 million, an increase of 29 percent over the 2002 crop. The total volume of berries, grapes and nuts harvested in 2003 was 207 million pounds, an increase of 12.7 percent over 2002. The increase was driven by substantially increased production of blueberries and cranberries. Total sales value in 2003 was 61.2 percent higher than the previous five-year average (1998-2002), indicating that the industry is continuing to flourish.

The value of processing sales in 2003 was \$96.6 million, 20.4 percent above 2002 while processing volume increased by only 4.7 percent. Fresh sales totalled a record

\$62.3 million, an increase of 45.9 percent compared to 2002. Fresh sales volume in 2003 was 52.3 percent higher than in 2002.

The total 2003 production of strawberries was up 13.2 percent from 2002, which is a significant improvement from the performance of the past couple of years. Despite the higher production of 2003, a lower grower price per pound reduced the value of sales from \$7.6 million to \$7.5 million, a decrease of 1.2 percent.

The farm value of the 2003 raspberry crop increased modestly to \$22.9 million, or by 3.2 percent over 2002. This occurred due to a higher average processing price that offset a decrease in production of 5.5 percent from 29.8 million pounds in 2002 to 28.1 million pounds in 2003.

The value of the 2003 blueberry crop continued to expand as in the past several years with record sales of \$63.2 million being achieved, up by 42.8 percent from 2002. Fresh sales, the larger share of the total, were up a substantial 61.8 percent from 2002. Grower prices for fresh sales remained very high in 2003 and processed prices increased significantly from 95 cents per pound in 2002 to \$1.10 in 2003. Over 75 percent of the crop went to the fresh market which apparently left the BC processors in very short supply. Although demand for processed blueberries remains strong processing supply declined in 2003 due to the very high utilization by the fresh sector. New plantings are continuing to occur in response to the strong market.

Cranberry producers had a banner year in 2003. The harvest reached a record 85 million pounds and grower sales value totalled \$38.5 million, an increase of 63.4 percent over the 2002 crop. Although larger production contributed to the jump in value the main contributory factor was a processing price increase from 30 cents per pound in 2002 to 45 cents per pound in 2003. A farm value so high has not been achieved since 1995 when sales reached a high of \$40.7 million.

The grower value of the 2003 kiwifruit crop was \$242 thousand, or 20.4 percent above 2002 and largely the result of increased production. Higher yields per acre, due to excellent weather conditions, were the key factor in the increased production of 315 thousand pounds in 2003 compared to 201 thousand pounds in 2002.

The value of the 2003 hazelnut crop totalled \$533 thousand, a reduction of 21.5 percent since 2002. Total production for 2003 was 686 thousand pounds, or 8.8 percent below the 2002 crop.

The grape harvest continued its upward trend in 2003 driven by vinifera vine replantings because of increased wine consumption. It produced a record high grape volume of 35.3 million pounds. The season average price for wine grapes (which account for 96 percent of the crop) was 69 cents per pound, down from the 2002 price of 74 cents per pound. However, the larger wine grape crop resulted in a high overall farm value of \$24.9 million for the 2003 grape harvest.

STATISTICAL TABLES

	GREENHOUSE VEGETABLE PRODUCTION, BRITISH COLUMBIA - 2003												
FRESH WHOLESALE PROCESSED SALES TOTAL SA													
Commodity	Harvested	Quantity	Price	Value*	Quantity	Price	Value	Harvested	Quantity	Value			
	Acres	'000 lb	\$/lb	\$'000	'000 lb	\$/lb	\$ '000	Acreage	'000 lb	\$'000			
Cucumbers	66	33,196	0.79	26,069	0	0.00	0	66	33,196	26,069			
Lettuce	3	409	1.38	565	0	0.00	0	3	409	565			
Tomatoes	283	159,348	0.86	136,557	0	0.00	0	283	159,348	136,557			
Peppers	207	42,852	1.69	72,442	0	0.00	0	207	42,852	72,442			
TOTAL	559	235,805	·	235,633	0		0	559	235,805	235,633			

Includes packaging and grading charges ranging from 6-20%/box.
 Other crops: This category has been discontinued due to the small numbers available and the reduced level of confidence of the numbers.

	MUSHROOM PRODUCTION, BRITISH COLUMBIA - 2003												
Commodity	FRESH WHO	OLESALE		PROC	ESSED SAI	ES	TOTAL SALES						
Commounty	Quantity	Price	Value	Quantity	Price	Value	Quantity	Value					
	'000 lb	\$/lb	\$'000	'000 lb	\$/lb	\$'000	'000 lb	\$'000					
Mushrooms	54,652	1.42	77,606	1,373	0.88	1,208	56,025	78,814					
TOTAL	54,652		77,606	1,373		1,208	56,025	78,814					

	TURF PRODUCTION, BRITISH COLUMBIA - 2003												
	GROWN HARVESTED TOTAL SALES												
Commodity			Price	Value		Value							
	Acres	Acres	\$ sq/yd	\$'000	Acres	\$'000							
Turf	1,793	1,345	1.30	8,460	1,345	8,460							

	SPECIALTY CROPS PRODUCTION, BRITISH COLUMBIA - 2003													
		FRESH WHO	LESALE		PROC	ESSED SAL	ES	TO						
Commodity	Harvested	Quantity	Price	Value*	Quantity	Price	Value	Harvested	Quantity	Value				
	Acres	'000 lb	\$/lb	\$'000	'000 lb	\$/lb	\$'000	Acreage	'000 lb	\$'000				
Ginseng (Roots)	400	1,300	18.00	23,400	0	0.00	0	400	1,300	23,400				
Ginseng (Seeds)	225	22	10.00	220	0	0.00	0	225	22	220				
Seed Potatoes	2,220	35,749	0.14	5,005	0	0.00	0	2,220	35,749	5,005				
Organic Potatoes	380	3,605	0.31	1,118	0	0.00	0	380	3,605	1,118				

		FIELD	VEGE	TABLE	PRODU	CTION	N, BRIT	TISH COL	UMBIA	- 2003				
			FRE	SH SALES	3			PI	ROCESSED	SALES		TO	TAL SALES	
Commodity		Fresh Whole	esale		Farm and	Roadside	Sales							
	Harvested	Quantity	Price	Value	Quantity	Price	Value	Harvested	Quantity	Price	Value	Harvested	Quantity	Value
	Acres	'000 lb	\$/lb	\$'000	'000 lb	\$/lb	\$'000	Acres	'000 lb	\$/lb	\$'000	Acreage	'000 lb	\$'000
Asparagus	240	8	1.60	13	490	2.00	981	0	0	0.00	0	240	498	994
Beans*	449	870	0.70	609	1,980	1.27	2,507	1,816	12,600	0.19	2,394	2,265	15,450	5,510
Beets, Bunched	30	235	0.32	75	194	0.93	181	0	0	0.00	0	30	429	256
Beets, Topped	144	2,717	0.32	869	424	0.63	268	0	0	0.00	0	144	3,141	1,137
Broccoli	502	2,650	0.45	1,193	828	0.78	644	480	3,362	0.37	1,244	982	6,840	3,081
Brussels Sprouts	108	915	0.42	384	272	0.79	216	407	3,576	0.39	1,395	515	4,763	1,995
Cabbage, Green**	531	13,495	0.16	2,175	4,645	0.45	2,079	0	0	0.00	0	531	18,140	4,253
Cabbage, Red	92	2,252	0.26	588	709	0.50	353	0	0	0.00	0	92	2,961	942
Carrots, Bunched	245	1.919	0.62	1,192	2,680	0.90	2,405	0	0	0.00	0	245	4,599	3,597
Carrots, Topped	600	11,763	0.23	2,743	631	0.50	318	Ö	0	0.00	0	600	12,394	3,061
Cauliflower	100	570	0.40	228	207	0.81	168	268	2,146	0.45	966	368	2,923	1,361
Celery	33	1.000	0.17	170	390	0.59	230	0	2, 0	0.00	0	33	1,390	400
Corn	1,750	5,900	0.22	1,281	6,350	0.44	2,775	1.040	12,126	0.06	728	2,790	24,376	4,784
Cucumbers***	240	1,600	0.55	880	2,070	0.86	1,787	0	0	0.00	0	240	3,670	2,667
Garlic	55	15	2.16	32	169	2.59	438	Ö	0	0.00	0	55	184	470
Lettuce. Head	45	751	0.27	200	990	0.82	816	0	0	0.00	0	45	1.741	1,016
Lettuce, Leaf Types	500	8,833	0.19	1,685	1,555	0.72	1,121	0	0	0.00	0	500	10,388	2,806
Melons	125	1,000	0.39	390	970	0.51	491	0	0	0.00	0	125	1,970	881
Onions, Bunched	85	1,150	0.44	506	151	0.92	138	Ö	0	0.00	Ö	85	1,301	644
Onions, Dry Bulb****	195	7,298	0.22	1,597	1,215	0.43	521	0	0	0.00	0	195	8,513	2,117
Parslev	46	421	1.72	725	332	1.28	424	0	0	0.00	0	46	753	1,148
Parsnips	51	772	0.79	611	75	0.95	71	0	0	0.00	0	51	847	682
Peas, Pod	108	295	0.75	192	433	1.56	677	0	0	0.00	0	108	728	868
Peas, Shelled	0	0	0.00	0	0	0.00	0//	2,184	9,218	0.00	2,028	2,184	9,218	2,028
Peppers	275	1,720	0.00	718	870	0.00	849	2,104	9,210	0.00	2,020	2,164	2,590	1,567
Potatoes, Early	400	6,630	0.42	3,810	890	0.30	624	0	0	0.00	0	400	7,520	4,433
Potatoes, Mid/Late****	5,241	99,805	0.37	21,613	6,500	0.70	2,811	-	7,838	0.00	196	5,241	114,143	24,620
Radishes	105	500	0.22	135	216	0.43	145	0	0.000	0.00	0	105	716	280
Rhubarb	110	1,350	0.45	608	1,395	0.59	829	0	0	0.00	0	110	2,745	1,437
Rutabagas	131	4,323	0.43	1,246	1,805	0.59	923	0	0	0.00	0	131	6.128	2,169
Spinach	145	1,800	0.29	1,134	678	0.82	556	0	0	0.00	0	145	2,478	1,690
Squash , Marrow & Pumpkin	755	14,900	0.05	2,264	7,800	0.52	4,520	0	0	0.00	0	755	22,700	6,784
Tomatoes	187	1,605	0.15	562	2,650	0.65	1,727	0	0	0.00	0	187	4,255	2,289
Zucchini	125	587	0.39	232	610	0.68	412	0	0	0.00	0	125	1,197	644
Chinese Vegetables	235	2,130	0.35	746	1,662	0.53	876	0	0	0.00	0	235	3,792	1,622
Other Vegetables	321	2,575	0.34	878	2,387	0.33	1,041	0	0	0.00	0	321	4,962	1,920
Š			0.04			0.77)		0.00				96,152
TOTAL FIELD VEG.	14,304	204,354		52,281	55,223		34,921	6,195	50,866		8,950	20,499	310,443	96

^{*}Historical data separated out green and wax (yellow) beans. Beans are now combined as it is consistent with the way Statistics Canada reports this category.

**Historically Savoy Cabbage was separated out. It is now combined in the Green Cabbage category.

**Historically cucumbers were split into two categories: pickling and slicing. In keeping with the way Statistics Canada reports this category, it has been combined into a single entity.

***Historically there were four categories for onions: bunched, fall seeded, spring seeded and silverskins. In keeping with the way Statistics Canada reports this category, fall seeded, spring seeded and silverskins have been combined into one category:

Onions, dry bulb.

^{*****} See footnote under Mainland sheet

	FIL	ELD VEC	GETAE	BLE PI	RODUC	TION,	VANC	OUVER	ISLAND	- 2003	3			
			FRES	H SALES	3			Pi	ROCESSED	SALES		TOT	TAL SALES	
Commodity		Fresh	Wholesa	ıle	Farm a	nd Road Sales	Iside							
-	Harvested Acres	Quantity '000 lb	Price \$/lb	Value \$'000	Quantity '000 lb	Price \$/lb	Value \$'000	Harvested Acres	Quantity '000 lb	Price \$/lb	Value \$'000	Harvested Acreage	Quantity '000 lb	Value \$'000
Asparagus	20	0	0.00	0	45	3.00	135	0	0	0.00	0	20	45	135
Beans	41	0	0.00	0	375	0.90	338	0	0	0.00	0	41	375	338
Beets, Bunched	5	35	0.25	9	41	0.70	29	0	0	0.00	0	5	76	37
Beets, Topped	10	87	0.40	35	88	0.45	40	0	0	0.00	0	10	175	74
Broccoli	20	0	0.00	0	95	0.77	73	0	0	0.00	0	20	95	73
Brussels Sprouts	10	0	0.00	0	88	0.50	44	0	0	0.00	0	10	88	44
Cabbage, Green	91	2,078	0.11	229	905	0.50	453	0	0	0.00	0	91	2,983	681
Cabbage, Red	20	314	0.27	85	172	0.53	91	0	0	0.00	0	20	486	176
Carrots, Bunched	5	0	0.00	0	380	0.90	342	0	0	0.00	0	5	380	342
Carrots, Topped	76	1,666	0.25	417	146	0.52	76	0	0	0.00	0	76	1,812	492
Cauliflower	40	178	0.40	71	74	0.80	59	0	0	0.00	0	40	252	130
Celery	4	0	0.00	0	155	0.60	93	0	0	0.00	0	4	155	93
Corn	355	1,500	0.15	225	1,050	0.46	483	0	Ö	0.00	Ö	355	2,550	708
Cucumbers	25	0	0.00	0	485	0.85	412	0	Ö	0.00	0	25	485	412
Garlic	10	15	2.16	32	22	2.25	50	0	0	0.00	0	10	37	82
Lettuce, Head	25	551	0.28	154	140	0.70	98	0	Ö	0.00	0	25	691	252
Lettuce, Leaf Types	40	733	0.31	227	310	0.75	233	0	0	0.00	0	40	1,043	460
Melons	10	0	0.00	0	120	0.75	66	0	0	0.00	0	10	120	66
Onions, Bunched	3	0	0.00	0	33	0.80	26	0	0	0.00	0	3	33	26
Onions, Dry Bulb	34	445	0.20	89	490	0.55	270	0	0	0.00	0	34	935	359
Parsley	2	16	1.00	16	11	1.70	19	0	0	0.00	0	2	27	35
Parsnips	6	20	0.83	17	30	0.95	29	0	0	0.00	0	6	50	45
Peas, Pod	10	0	0.00	0	78	1.75	137	0	0	0.00	0	10	78	137
Peas, Shelled	0	0	0.00	0	0	0.00	0	0	0	0.00	0	0	0	0
Peppers	10	0	0.00	0	95	0.00	90	0	0	0.00	0	10	95	90
• •	70	710		369	215	0.93	157	0	_		_	70		
Potatoes, Early			0.52				-	Ū	0	0.00	0		925	526
Potatoes, Mid/Late	579	11,775	0.23	2,708	1,600	0.47	752	0	0	0.00	0	579	13,375	3,460
Radishes	8	0	0.00	0	46	0.80	37	0	0	0.00	0	8	46	37
Rhubarb	15	0	0.00	0	550	0.65	358	0	0	0.00	0	15	550	358
Rutabagas	14	2	0.29	1	205	0.55	113	0	0	0.00	0	14	207	113
Spinach	12	0	0.00	0	143	0.85	122	0	0	0.00	0	12	143	122
Squash, Marrow & Pumpkin	135	2,000	0.15	300	1,050	0.40	420	0	0	0.00	0	135	3,050	720
Tomatoes	30	0	0.00	0	525	0.90	473	0	0	0.00	0	30	525	473
Zucchini	10	32	0.30	10	45	0.60	27	0	0	0.00	0	10	77	37
Chinese Vegetables	25	230	0.35	81	112	0.66	74	0	0	0.00	0	25	342	154
Other Vegetables	4	25	0.45	11	37	0.56	21	0	0	0.00	0	4	62	32
TOTAL VANCOUVER ISLAND	1,774	22,412		5,085	9,956		6,235	0	0		0	1,774	32,368	11,319

	FIELD VEGETABLE PRODUCTION,													
			FRES	SH SALES	i			PI	ROCESSED	SALES		TO1	TAL SALES	;
Commodity		Fresh	Wholes	ale	Farm a	and Road Sales	dside							
	Harvested Acres	Quantity '000 lb	Price \$/lb	Value \$'000	Quantity '000 lb	Price \$/lb	Value \$'000	Harvested Acres	Quantity '000 lb	Price \$/lb	Value \$'000	Harvested Acreage	Quantity '000 lb	Value \$'000
Asparagus	3	0	0.00	0	5	2.00	10	0	0	0.00	0	3	5	10
Beans	382	870	0.70	609	1,450	1.40	2,030	1,816	12,600	0.19	2,394	2,198	14,920	5,033
Beets, Bunched	20	200	0.33	66	98	1.19	117	0	0	0.00	0	20	298	183
Beets, Topped	124	2,585	0.32	818	325	0.69	224	0	0	0.00	0	124	2,910	1,042
Broccoli	470	2,650	0.45	1,193	675	0.79	533	480	3,362	0.37	1,244	950	6,687	2,970
Brussels Sprouts	95	915	0.42	384	165	0.99	163	407	3,576	0.39	1,395	502	4,656	1,942
Cabbage, Green	432	11,175	0.17	1,900	3,250	0.44	1,430	0	0	0.00	0	432	14,425	3,330
Cabbage, Red	70	1,923	0.26	500	440	0.49	216	0	0	0.00	0	70	2,363	716
Carrots, Bunched	165	1,514	0.68	1,030	1,200	0.94	1,128	0	0	0.00	0	165	2,714	2,158
Carrots, Topped	505	10,044	0.23	2,310	225	0.44	99	0	0	0.00	0	505	10,269	2,409
Cauliflower	45	310	0.40	124	95	0.90	86	0	0	0.00	0	313	2,551	1,175
Celery	26	1,000	0.17	170	125	0.57	71	Ö	Ō	0.00	0	26	1,125	241
Corn	1,065	4,400	0.24	1,056	3,100	0.42	1,302	1,040	12,126	0.06	728	2,105	19,626	3,086
Cucumbers	165	1,600	0.55	880	775	0.99	767	0	0	0.00	0	165	2,375	1,647
Garlic	12	0	0.00	0	42	2.00	84	o o	0	0.00	0	12	42	84
Lettuce. Head	16	200	0.23	46	200	0.99	198	ő	Õ	0.00	0	16	400	244
Lettuce, Leaf Types	435	8,100	0.18	1,458	825	0.72	594	ő	Ö	0.00	0	435	8925	2,052
Melons	15	0,100	0.00	0	250	0.50	125	ő	0	0.00	0	15	250	125
Onions, Bunched	77	1,150	0.44	506	52	1.20	62	ő	0	0.00	0	77	1202	568
Onions, Dry Bulb	108	5,253	0.22	1,156	275	0.34	94	ő	Ö	0.00	0	108	5528	1,249
Parsley	41	405	1.75	709	285	1.20	342	0	ő	0.00	0	41	690	1,051
Parsnips	40	752	0.79	594	33	1.00	33	0	Ö	0.00	0	40	785	627
Peas, Pod	58	295	0.65	192	185	2.00	370	0	0	0.00	0	58	480	562
Peas, Shelled	0	293	0.00	0	0	0.00	0	2,184	9,218	0.00	2,028	2,184	9,218	2,028
Peppers	125	1,000	0.38	380	225	1.05	236	2,104	0,210	0.00	2,020	125	1,225	616
	320	5.882	0.58	3,412	570	0.69	393	0	0	0.00	0	320	6.452	3,805
Potatoes, Early		5,882 78,797*	0.58			0.69	1,190	U **	-		-			
Potatoes, Mid/Late	3,888			17,335	3,050				7,838	0.03	196	3,888	89,685	18,720
Radishes Rhubarb	93 90	500 1,350	0.27 0.45	135 608	145 705	0.59 0.57	86 402	0	0	0.00	0	93 90	645	221 1,009
		,					402 570	0	0		_		2,055	
Rutabagas	102	4,200	0.29	1,218	1,000	0.57		0	0	0.00	0	102	5,200	1,788
Spinach	119	1,800	0.63	1,134	365	0.84	307	0	0	0.00	0	119	2,165	1,441
Squash, Marrow & Pumpkin	460	10,000	0.15	1,500	4,250	0.70	2,975	0	0	0.00	0	460	14,250	4,475
Tomatoes	22	105	0.35	37	325	1.09	354	0	0	0.00	0	22	430	391
Zucchini	93	460	0.40	184	450	0.69	311	0	0	0.00	0	93	910	495
Chinese Vegetables	185	1,900	0.35	665	1,375	0.52	715	0	0	0.00	0	185	3,275	1,380
Other Vegetables	260	2,550	0.34	867	1,525	0.48	732	0	0	0.00	0	260	4,075	1,599
TOTAL MAINLAND	10,126	163,885		43,173	28,060		18,348	6,195	50,866		8,950	16,321	242,811	70,471

^{*} In the Fresh Wholesale Category – Total pounds of 78,797 is broken out into 57,018 pounds for Fresh and 21,779 pounds for Food Service outlets (i.e. for fresh-made French fries)

** Due to the fact that "processed" is culls taken from the "fresh" and "food service" categories, there can be no acreage figure shown for processing as it is already included in the Fresh Wholesale Category.

				H SALES				HERN IN	ROCESSED			тот	AL SALES	
Commodity		Fresh	Wholesa			and Road	Iside			0/1220			712 071220	
,	Harvested Acres	Quantity '000 lb	Price \$/lb	Value \$'000	Quantity '000 lb	Price \$/lb	Value \$'000	Harvested Acres	Quantity '000 lb	Price \$/lb	Value \$'000	Harvested Acreage	Quantity '000 lb	Value \$'000
Asparagus	217	8	1.60	13	440	1.90	836	0	0	0.00	0	217	448	849
Beans	26	0	0.00	0	155	0.90	140	0	0	0.00	0	26	155	140
Beets, Bunched	5	0	0.00	0	55	0.65	36	0	0	0.00	0	5	55	36
Beets, Topped	10	45	0.36	16	11	0.40	4	0	0	0.00	0	10	56	21
Broccoli	12	0	0.00	0	58	0.65	38	0	0	0.00	0	12	58	38
Brussels Sprouts	3	0	0.00	0	19	0.45	9	0	0	0.00	0	3	19	9
Cabbage, Green	8	242	0.19	46	490	0.40	196	0	0	0.00	0	8	732	242
Cabbage, Red	2	15	0.23	3	97	0.48	47	0	0	0.00	0	2	112	50
Carrots, Bunched	75	405	0.40	162	1,100	0.85	935	0	0	0.00	0	75	1,505	1,097
Carrots, Topped	19	53	0.31	16	260	0.55	143	0	0	0.00	0	19	313	159
Cauliflower	15	82	0.40	33	38	0.60	23	0	0	0.00	Ö	15	120	56
Celery	3	0	0.00	0	110	0.60	66	0	0	0.00	0	3	110	66
Corn	330	Ö	0.00	Ö	2,200	0.45	990	0	Ö	0.00	Ö	330	2,200	990
Cucumbers	50	0	0.00	0	810	0.75	608	0	Ö	0.00	0	50	810	608
Garlic	33	0	0.00	Ö	105	2.90	305	0	0	0.00	Ö	33	105	305
Lettuce. Head	4	0	0.00	0	650	0.80	520	0	0	0.00	0	4	650	520
Lettuce, Leaf Types	25	Ö	0.00	Ö	420	0.70	294	Ö	Ö	0.00	0	25	420	294
Melons	100	1,000	0.39	390	600	0.50	300	0	0	0.00	0	100	1,600	690
Onions, Bunched	5	0	0.00	0	66	0.75	50	0	0	0.00	0	5	66	50
Onions, Dry Bulb	53	1,600	0.22	352	450	0.35	158	ő	Ö	0.00	0	53	2,050	510
Parsley	3	0	0.00	0	36	1.75	63	0	0	0.00	0	3	36	63
Parsnips	5	0	0.00	0	12	0.80	10	ő	ő	0.00	0	5	12	10
Peas, Pod	40	0	0.00	0	170	1.00	170	0	0	0.00	0	40	170	170
Peas. Shelled	0	0	0.00	0	0	0.00	0	0	0	0.00	0	0	0	0
Peppers	140	720	0.47	338	550	0.95	523	0	0	0.00	0	140	1,270	861
Potatoes, Early	10	38	0.76	29	105	0.70	74	0	0	0.00	0	10	1,270	102
Potatoes, Mid/Late	774	9,233	0.76	1,570	1,850	0.70	870	0	0	0.00	0	774	11,083	2,439
Radishes	4	9,233	0.17	1,570	25	0.47	23	0	0	0.00	0	4	25	2,439
Rhubarb	5	0	0.00	0	140	0.50	70	0	0	0.00	0	5	140	70
Rutabagas	15	121	0.00	28	600	0.50	240	0	0	0.00	0	15	721	268
•	14	0	0.23	20 0	170	0.40	128	0	0	0.00	0	14	170	128
Spinach	160		0.00	464		0.75 0.45	1,125	0	0	0.00	-	160		
Squash, Marrow & Pumpkin		2,900		464 525	2,500			0	_		0		5,400	1,589
Tomatoes	135	1,500	0.35		1,800	0.50	900	•	0	0.00	0	135	3,300	1,425
Zucchini	22	95	0.40	38	115	0.65	75	0	0	0.00	0	22	210	113
Chinese Vegetables	25	0	0.00	0	175	0.50	88	0	0	0.00	0	25	175	88
Other Vegetables	57	0	0.00	0	825	0.35	289	0	0	0.00	0	57	825	289
TOTAL SOUTHERN INTERIOR	2,404	18,057		4.023	17,207		10,338	0	0		0	2,404	35,264	14,362

		7	REE FR	UIT PROD	UCTIO	N, BRIT	ISH COL	UMBIA - 20	003			
		FRESH	SALES*		PROCESSE	D SALES		TOTAL S	SALES			
Commodity	Fresh	n Wholes	sale	Farm and	Roadsid	e Sales			Net	Net		
	Quantity '000 lb	Price \$/lb	Value \$'000	Quantity '000 lb	Price \$/lb	Value \$'000	Quantity '000 lb	Nominal** \$/lb	Price*** \$/lb	Value+ \$'000	Quantity '000 lb	Value \$'000
Apples	215,943	0.28	60,142	6,348	0.55	3,516	50,343	0.04	-0.05	-2,508	272,634	61,151
Pears	12,251	0.23	2,828	1,270	0.56	705	1,950	0.04	-0.07	-137	15,471	3,396
Peaches	7,863	0.30	2,354	3,075	0.71	2,168	330	0.013	-0.04	-12	11,268	4,510
Apricots	1,236	0.40	494	688	1.25	860	66	0.03	-0.09	-6	1,990	1,348
Cherries - Sweet	10,965	1.10	12,061	2,640	1.25	3,300	970	0.06	0.00	0****	14,575	15,361
Cherries - Sour	0	0.00	0	100	1.00	100	2,500		0.15	375	2,600	475
Prunes	1,356	0.40	542	760	1.10	836	60	0.01	-0.05	-3	2,176	1,375
Plums	49	0.45	22	45	0.80	36	0	0.00	0.00	0	94	58
Nectarines	843	0.41	345	336	0.70	235	36	0.013	-0.06	-2	1,215	578
TOTAL BRITISH COLUMBIA	250,506		78,788	15,262		11,757	56,255			-2,293	322,023	88,252

^{*}Includes agency channels and packinghouse direct sales. Sales are recorded at the point of production.

⁺ See footnote under Okanagan-Similkameen-Kootenay

	TREE	FRUI	T PROL	DUCTION	, VANCO	DUVER	ISLAND - 2	2003			
			FRESH	SALES*		PROCE	SSED SAL	.ES	TOTAL SALES		
Commodity	Fresh	Wholes	ale	Farm and	Roadside	e Sales					
-	Quantity	Price	Value	Quantity	Price	Value	Quantity	Price	Value	Quantity	Value
	'000 lb	\$/lb	\$'000	'000 lb	\$/lb	\$'000	'000 lb	\$/lb	\$'000	'000 lb	\$'000
Apples	22	0.65	14	1,100	0.85	935	0	0.00	0	1,122	949
Pears	0	0.00	0	20	0.85	17	0	0.00	0	20	17
Peaches	0	0.00	0	35	1.14	40	0	0.00	0	35	40
Apricots	0	0.00	0	0	0.00	0	0	0.00	0	0	0
Cherries - Sweet	0	0.00	0	0	0.00	0	0	0.00	0	0	0
Cherries - Sour	0	0.00	0	0	0.00	0	0	0.00	0	0	0
Prunes	0	0.00	0	0	0.00	0	0	0.00	0	0	0
Plums	0	0.00	0	45	0.80	36	0	0.00	0	45	36
Nectarines	0	0.00	0	0	0.00	0	0	0.00	0	0	0
TOTAL VANCOUVER ISLAND	22		14	1,200		1,028				1,222	1,042

^{*}Includes agency channels, roadside stand sales, direct farm sales and packinghouse direct sales. Sales are recorded at the point of production.

^{**} See footnote under Okanagan-Similkameen-Kootenay

^{***} See footnote under Okanagan-Similkameen-Kootenay

^{****} See footnote under Okanagan-Similkameen-Kootenay

	TREE FRUIT PRODUCTION, OKANAGAN-SIMILKAMEEN-KOOTENAY - 2003											
			FRESH	SALES*				PROCESSE	SALES		TOTAL SALES	
				Farm a	and Roa	dside						
Commodity	Fresh	n Whole	sale		Sales				Net	Net		
-	Quantity	Price	Value	Quantity	Price	Value	Quantity	Nominal**	Price***	Value+	Quantity	Value
	'000 lb	\$/lb	\$'000	'000 lb	\$/lb	\$'000	'000 lb	\$/lb	\$/lb	\$'000	'000 lb	\$'000
Apples	215,921	0.28	60,128	4,720	0.48	2,266	50,343	0.04	-0.05	-2,508	270,984	59,886
Pears	12,251	0.23	2,828	1,250	0.55	688	1,950	0.04	-0.07	-137	15,451	3,379
Peaches	7,863	0.30	2,354	3,040	0.70	2,128	330	0.013	-0.04	-12	11,233	4,470
Apricots	1,236	0.40	494	688	1.25	860	66	0.03	-0.09	-6	1,990	1,348
Cherries - Sweet	10,965	1.10	12,061	2,640	1.25	3,300	970	0.06	0.00	0****	14,575	15,361
Cherries - Sour	0	0.00	0	100	1.00	100	2,500		0.15	375	2,600	475
Prunes	1,356	0.40	542	760	1.10	836	60	0.01	-0.05	-3	2,176	1,375
Plums	49	0.45	22	0	0.00	0	0	0.00	0.00	0	49	22
Nectarines	843	0.41	345	336	0.70	235	36	0.013	-0.06	-2	1,215	578
TOTAL OKANAGAN-		•	•		•	•						
SIMKOOT.:	250,484		78,774	13,534		10,412	56,255			-2,293	320,273	86,893

^{*}Includes agency channels and packinghouse direct sales. Sales are recorded at the point of production.
** Nominal price received by packing houses from sales to processors

⁺ Value of processor sales are reported based on the net price to growers.

	TREE FRUIT PRODUCTION, FRASER VALLEY - 2003											
		FRESH SALES*							PROCESSED SALES			
Commodity	Fresh	Wholes	sale	Farm and Roadside Sales								
	Quantity	Price	Value	Quantity	Price	Value	Quantity	Price	Value	Quantity	Value	
	'000 lb	\$/lb	\$'000	'000 lb	\$/lb	\$'000	'000 lb	\$/lb	\$'000	'000 lb	\$'000	
Apples	0	0.00	0	528	0.60	317	0	0.00	0	528	317	
Pears	0	0.00	0	0	0.00	0	0	0.00	0	0	0	
Peaches	0	0.00	0	0	0.00	0	0	0.00	0	0	0	
Apricots	0	0.00	0	0	0.00	0	0	0.00	0	0	0	
Cherries - Sweet	0	0.00	0	0	0.00	0	0	0.00	0	0	0	
Cherries - Sour	0	0.00	0	0	0.00	0	0	0.00	0	0	0	
Prunes	0	0.00	0	0	0.00	0	0	0.00	0	0	0	
Plums	0	0.00	0	0	0.00	0	0	0.00	0	0	0	
Nectarines	0	0.00	0	0	0.00	0	0	0.00	0	0	0	
TOTAL FRASER VALLEY:	0		0	528		317	0		0	528	317	

^{***}Net price to growers after deduction of packing house charges. Shown as negative where packing house charges exceed the nominal price.

**** Price for the sweet cherries is zero because the price paid by the processors is the same as the cost that the packing houses charged the growers for handling the volume of fresh cherries which were diverted to the processors as a result of not meeting fresh market quality standards.

APPLE AND PEAR PRODUCTION BY VARIETY, OKANAGAN-SIMILKAMEEN-KOOTENAY - 2003															
	FRESH SALES								PROCESSED SALES						
				Farm a	nd Road	dside									
Commodity	Fresh	Wholes	ale*		Sales			Nominal	Net	Net					
	Quantity	Price	Value	Quantity	Price	Value	Quantity	Price***	Price****	Value+	Quantity	Value			
	'000 lb	\$/lb	\$'000	'000 lb	\$/lb	\$'000	'000 lb	\$/lb	\$/lb	\$'000	'000 lb	'\$'000			
APPLES		T		4,720	0.48	2,266		0.04	, , , , , , , , , , , , , , , , , , ,	,	4,720	2,266			
Summer Apples	1,445	0.20	289				85		-0.05	-4	1,530	285			
McIntosh	36,007	0.29	10,442				17,058		-0.05	-853	53,065	9,589			
Spartan	35,711	0.30	10,713				6,488		-0.05	-324	42,199	10,389			
Red Delicious	47,693	0.18	8,585				8,854		-0.05	-443	56,547	8,142			
Golden Delicious	15,068	0.25	3,767				4,263		-0.05	-213	19,331	3,554			
Granny Smith	2,958	0.26	769				164		-0.05	-1	3,122	768			
Braeburn	2,012	0.26	523				**		**	**	2,012	523			
Jonagold	2,733	0.23	629				**		**	**	2,733	629			
Gala	57,508	0.34	19,553				8,010		-0.05	-400	65,518	19,153			
Ambrosia	2,719	0.58	1,577				**		**	**	2,719	1,577			
Fuji	9,703	0.27	2,620				1,834		-0.05	-91	11,537	2,529			
All Other Apples	2,364	0.28	662				3,587		-0.05	-179	5,951	483			
TOTAL APPLES	215,921	0.28	60,128	4,720	0.48	2,266	50,343	0.04	-0.05	-2,508	270,984	59,886			
PEARS				1,250	0.55	688					1,250	688			
Bartlett	4,839	0.26	1,258				950	0.07	-0.05	-47	5,789	1,211			
D'Anjou	6,963	0.21	1,462				1,000	0.009	-0.09	-90	7,963	1,372			
Other Pears	449	0.24	108								449	108			
TOTAL PEARS	12,251	0.23	2,828	1,250	0.55	688	1,950	0.04	-0.07	-137	15,451	3,379			

^{**} Included in "All other apples" category
*** Nominal price received by packing houses from sales to processors

^{****} Net price to growers after deduction of packing house charges. Shown as negative where packing house charges exceed the nomimal price.

⁺ Value of processor sales are reported based on the net price to growers

L	BERRIES, GRAPES AND NUTS PRODUCTION, BRITISH COLUMBIA - 2003										
			FRESH S.	ALES	PROCES	SSED SA	LES	TOTAL SALES			
Commodity	Fresh V	Vholesale	;	Farm and	Roadside	e Sales					
	Quantity	Price	Value	Quantity	Price	Value	Quantity	Price	Value	Quantity	Value
	'000 lb	\$/lb	\$'000	'000 lb	\$/lb	\$'000	'000 lb	\$/lb	\$'000	'000 lb	\$'000
Strawberries	375	1.63	610	2,385	1.58	3,761	4,738	0.67	3,174	7,498	7,545
Raspberries	956	1.26	1,205	1,387	2.25	3,127	25,800	0.72	18,576	28,143	22,908
Blueberries	35,305	1.30	45,950	2,405	1.84	4,435	11,620	1.10	12,782	49,330	63,167
Cranberries	400	0.80	320	4	1.25	5	84,800	0.45	38,160	85,204	38,485
Other Berries*	269	1.72	464	91	2.70	246	100	1.10	110	460	820
Grapes	900	0.89	801	650	1.10	715	33,796	0.69	23,448	35,346	24,964
Black Currants	0	0.00	0	18	1.31	24	305	0.48	146	323	170
Red Currants	65	1.30	85	23	2.04	47	0	0.00	0	88	132
Kiwifruit	275	0.75	206	40	0.90	36	0	0.00	0	315	242
Hazelnuts	270	1.03	277	21	1.64	35	395	0.56	221	686	533
TOTAL BRITISH COLUMBIA	38,815	•	49,917	7,024		12,431	161,554		96,618	207,393	158,966

^{*}Includes: loganberries, boysenberries, blackberries, gooseberries, saskatoons, and tayberries

BE	BERRIES, GRAPES AND NUTS PRODUCTION, VANCOUVER ISLAND - 2003										
	-		FRESH S	ALES			PROCES	SSED SA	LES	TOTAL SALES	
Commodity	Fresh	Wholesal	е	Farm and	Roadside	Sales					
	Quantity	Price	Value	Quantity	Price	Value	Quantity	Price	Value	Quantity	Value
	'000 lb	\$/lb	\$'000	'000 lb	\$/lb	\$'000	'000 lb	\$/lb	\$'000	'000 lb	\$'000
Strawberries	25	2.00	50	570	1.80	1,026	0	0.00	0	595	1,076
Raspberries	6	2.75	17	250	2.50	625	0	0.00	0	256	642
Blueberries	45	2.50	112	450	2.25	1,012	0	0.00	0	495	1,124
Cranberries	0	0.00	0	4	1.25	5	2,200	0.45	990	2,204	995
Other Berries*	9	2.50	22	16	2.75	44	0	0.00	0	25	66
Grapes	0	0.00	0	0	0.00	0	339	0.36	122	339	122
Black Currants	0	0.00	0	3	2.50	7	0	0.00	0	3	7
Red Currants	0	0.00	0	3	2.50	7	0	0.00	0	3	7
Kiwifruit	275	0.75	206	40	0.90	36	0	0.00	0	315	242
Hazelnuts	10	1.75	17	6	2.50	15	0	0.00	0	16	32
TOTAL VANCOUVER ISLAND	370		424	1,342		2,777	2,539		1,112	4,251	4,313

^{*}Includes blackberries, loganberries, boysenberries, gooseberries, saskatoons and tayberries

	BERR	IES, GR	APES AI	ND NUTS	PRODUC	TION, MAI	NLAND - 20	003			
			FRES	H SALES			PROCE	SSED SAL	_ES	TOTAL SALES	
Commodity	Fres	h Wholes	ale	Farm an	d Roadsid	e Sales					
	Quantity	Price	Value	Quantity	Price	Value	Quantity	Price	Value	Quantity	Value
	'000 lb	\$/lb	\$'000	'000 lb	\$/lb	\$'000	'000 lb	\$/lb	\$'000	'000 lb	\$'000
Strawberries	350	1.60	560	1,100	1.35	1,485	4,738	0.67	3,174	6,188	5,219
Raspberries	950	1.25	1,188	650	1.60	1,040	25,800	0.72	18,576	27,400	20,804
Blueberries	35,260	1.30	45,838	1,500	1.60	2,400	11,620	1.10	12,782	48,380	61,020
Cranberries	400	0.80	320	**	**	**	82,600	0.45	37,170	83,000	37,490
Other Berries*	260	1.70	442	25	2.10	52	100	1.10	110	385	604
Grapes	0	0.00	0	0	0.00	0	393	0.46	181	393	181
Black Currants	0	0.00	0	0	0.00	0	305	0.48	146	320	163
Red Currants	65	1.30	85	20	2.00	40	0	0.00	0	85	125
Kiwifruit	0	0.00	0	0	0.00	0	0	0.00	0	0	0
Hazelnuts	260	1.00	260	15	1.30	20	395	0.56	221	670	501
TOTAL MAINLAND	37,545		48,692	3,325		5,054	125,951		72,361	166,821	126,107

^{*}Includes gooseberries, blackberries, tayberries, boysenberries
** Included in Fresh Wholesale

BERRI	BERRIES, GRAPES AND NUTS PRODUCTION, SOUTHERN INTERIOR REGION - 2003										
			FRESH S	SALES			PROCI	ESSED SAL	.ES	TOTAL SALES	
Commodity	Fresh	Wholesal	е	Farm and	Roadside S	Sales					
-	Quantity	Price	Value	Quantity	Price	Value	Quantity	Price	Value	Quantity	Value
	'000 lb	\$/lb	\$'000	'000 lb	\$/lb	\$'000	'000 lb	\$/lb	\$'000	'000 lb	\$'000
Strawberries	0	0.00	0	715	1.75	1,250	0	0.00	0	715	1,250
Raspberries	0	0.00	0	487	3.00	1,462	0	0.00	0	487	1,462
Blueberries	0	0.00	0	455	2.25	1,023	0	0.00	0	455	1,023
Cranberries	0	0.00	0	0	0.00	0	0	0.00	0	0	0
Other Berries*	0	0.00	0	50	3.00	150	0	0.00	0	50	150
Grapes	900	0.89	801	650	1.10	715	33,064	0.70	23,145	34,584	24,661
Black Currants	0	0.00	0	0	0.00	0	0	0.00	0	0	0
Red Currants	0	0.00	0	0	0.00	0	0	0.00	0	0	0
Kiwifruit	0	0.00	0	0	0.00	0	0	0.00	0	0	0
Hazelnuts	0	0.00	0	0	0.00	0	0	0.00	0	0	0
TOTAL SOUTHERN INTERIOR	900		801	2,357		4,600	33,064		23,145	36,321	28,546

^{*}Includes blackberries

BC GRAPES FOR PROCESSING BY VARIETY - 2003

DO GRAI EST GRAIROS	Crush	Short Tons
VARIETY	'000 lbs	
WHITE GRAPES		
Auxerrois	316	158
Bacchus	253	126
Chardonnay	5,125	2,562
Chenin Blanc	199	99
Ehrenfelser	543	271
Gewürztraminer	2,036	1,018
Kerner	146	73
Müller Thurgau	195	98
Optima	101	50
Pinot Blanc	2,475	1,237
Pinot Gris	2,277	1,139
Riesling	1,362	681
Sauvignon Blanc	1,253	627
Semillon	291	145
Vidal	32	16
Other White varieties	1,586	793
Total White Grapes	18,189	9,094
RED GRAPES		
Baco Noir	118	59
Cabernet Franc	1,441	720
Cabernet Sauvignon	2,305	1,153
Chancellor	282	141
Gamay Noir	1,056	528
Marechal Foch	228	114
Merlot	6,007	3,003
Pinot Meunier	96	48
Pinot Noir	2,650	1,325
Syrah/Shiraz	613	306
Other Red varieties	812	406
Total Red Grapes	15,607	7,804
TOTAL CDADES	22 700	46 000
TOTAL GRAPES	33,796	16,898

Note: Conversion from pounds to tons may not be exact due to rounding.